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GENERAL PAPER ON TEACHING AND RESEARCH APTITUDE
Paper 1
Time Allowed : 1 Hour] [Maximum Marks : 100

Note :— This paper consists of fifty (50) multiple choice questions. Each question

carries two ,(2) marks. All questions are compulsory.

The following table shows the percentage profit (%) earned by two companies
A and B during the years 2011-15. Answer the question 1 and 2, based on

the data contained in the table.

Profit earned by two companies

Year Percentage Profit (%)

A B
2011 20 30
2012 - 35 40
2013 45 35
2014 40 50
2015 25 35

Income — Expenditure
Expenditure

Where percent (%) Profit = x 100

1. If the total expenditure of the two companies was Rs. 9 lakh in the year 2012
and the expenditure of companies A and B was in the ratio 2 : 1, then what

was the income of the company A in that year ?

(A) Rs. 9.2 lakh (B) Rs. 7.2 lakh

(C) Rs. 6.0 lakh (D) Rs. 8.1 lakh
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GENERAL PAPER ON TEACHING AND RESEARCH APTITUDE
q97-uR 1
T ;1 T fqufe - 100

AT : W TWI-IF H U= (50) dgfasedd U £ YRS YR & (2) % & gl
et wva e €

frefafea ot 2011-15 & SF <) HufwE A iR B g St gfas &9 (%)
FI cuildt ¥ Afee H fafed 2 & ¥R W Y 1 3R 2 ® I D)

Profit earned by two companies

Yeai' Percentage Profit (%)
A B
2011 20 30
2012 35 40
2013 45 35
2014 40 .50
2015 25 - 35
Income — Expenditure

x 100

Where‘ percent (%) Profit = Expenditure

1. Ak 3 F9fE w1 He @ ad 2012 § 9 @@ & R A AR B wUCEl & =9
2:1% oua # 9, A 34 A FTH A oo@ T A 2

(A) 9.2 9@ %. - (B) 72 d9 w.
(C) 6.0 9@ *. (D) 8.1 «W™@ %.
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2; What is the average percentage profit earned by the company B ?
(A) 38% (B) 35%
(C) 40% D) 42%

The following table shows the percentage distribution of the expenditure -

'

incurred in publishing a book. Study the table and answer the questions

3-8 based on it.
Various Expenditures (in percentage) Incurred in Publishing a Book
Budget head Expenditure incurred

(in percentage)

Promotion cost 10%
Printing cost - 20%
Transportation cos;c 10%
Paper cost’ 25%
Binding 20%
Royalty 15%

3. If for a certain quantity of books, the publisher has to pay Rs. 30,600 as

printing cost, then what will be amount of royalty to be paid for these books ?
(A) Rs. 26,150 (B) Rs. 19,450

(C) Rs. 22,950 (D) Rs. 21,200
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2.  ®YN B gr 3ifSia siwa ufasa oy = ¥ 2
(A) 38% (B) 35%
(C) 40% D) 42%

fr= arferer g | A TR F9 § §C o 1 ufov faao <ufdt €1 arfes
F FFIT HIfWC R Y W M@ 3-5 Y9 B IW AW

fafi= = (vfoma ¥) & g & wevE o
Budget head Expenditure incurred

(in percentage)

Promotion cost 10%
Printing cost 20%
Transportation cost 10%
Paper cost 25%
Binding | 20% |
Royalty 15%

3. u&@ﬁﬁaﬁmﬁm%mmwmameow.%ﬁhmgmﬁ
% fau Yot it ofr &1 aw @ dm 2

(A) 26,150 %. (B) 19,450 =.

(C) 22,950 =. D) 21,200 =.
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4, The price of the book is marked 20% above the cost price. If the marked price
of the book is Rs. 180, then what is the cost of the paper used in a single

copy of the book ?

(A) Rs. 36 (B) Rs. 37.50
(C) Rs. 42 (D) Rs. 44.25
5. If 5500 copies are published and the transportation cost on them amounts

to Rs. 82,500, then what should be the selling price of the book so that the

publisher can earn a profit of 25% ?

(A) Rs. 187.50 (B) Rs. 191.50
(C) Rs. 175 (D) Rs. 180
6. The first virtual university of India came up in :
(A) Tamil Nadu (B) Andhra Pradesh
(C) Uttar Pradesh (D) Maharashtra

/2 GIF means :
(A) Graphics Interchange File (B) Global Information Format
(C) Graphics Information Format (D) Graphics Interchange Format

8. Mr. Chan wants to register a domain name using his name, ‘Chan Tai Man’.

Which of the following domain names is NOT valid ?
(A) chantaiman.co.uk (B) chantaiman.com.org

(C) chantaiman.com.hk (D) ChanTaiMan.Net
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q&® 1 G cost price ¥ 20% FW T I THH F AfFd TF 180 & ¥, W
& &1 Th 9id § W HO H KA ML 7

A) 36 % (B) 37.50 %.
©) 42 % , D) 44.25 %.

afe 5500 wieal yefim g € @R 37 W uReed @@ 82,500 % ©, @ TRk &
faa gea 91 B AMEY TR THERTE 25% F AT FA TEH 7

(A) 187.50 =. (B) 191.50 =.
(C) 175 . (D) 180 ®.

Rd 1 Een MW favafqwe™ (Virtual University) %@l Tifad gam ?

(A) qrHerg (B) Ty wam

(C) IW 7™ (D) HERTS

GIF &1 &9 § :

(A) TfFed SETES e (B) daffas gu W
(C) wiftrera = T& (D) TR SN HiHE

sit B9 o AW, ‘9 aF T’ 1 A Feh T A AW USigd S 9ed ol
frefafem # @ SiF@ 9 W 9 T § 7

(A) chantaiman.co.uk (B) chantaiman.com.org

(C) chantaiman.com.hk (D) ChanTaiMan.Net
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9. Which institution was set up by the Government of India to catalyse

e-governance activities ?
(A) MIT (B) NIC
(C) NASSCOM ‘ (D) FICCI

10. In Audio and Video Compression, each frame is divided into small grids, called

picture elements or :
(A) Frame (B) Packets
(C) Pixels (D) Mega Pixels

11.  Which of the following zones are correctly matched with their permitted noise

level units ?

(1) Industrial .......ccmee 90 dB

(2) Commercial .........ccceeee. 75 dB

(8) Residential .................. Silence Zone
(4) Courts ......ceeveeeeee 55 dB

(A) Only (1) and (2)
(B) Only (2) and (3)
(C) Only (3)
(D) None of the above
12. Who banned the ‘manjha’ used for flying kites ?
(A) SC (B) NGT

(C) Health Ministry (D) Environment Ministry
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9. E-werig TiafafRl @ AR S % fou yRd TR 3 fRE GRE S e S

o ?
(A) TSRS (B) TASTEH!
(C) A (D) fwernt
10. sifed ik difed Ties §, v@% w9 w1 891 fie # fawfsa e s &, 9
fo5 9 @ T FE Sl %l
(A) TH @fEr (Frame) (B) e (Packets)'
(C) fra (D) Fm foerE

11. ﬁﬂﬁ?ﬁﬁﬁ@ﬁm@ﬁ@ﬁ%?ﬁ?ﬁ?mﬁﬁmﬂﬂﬁéﬂﬁﬁam
T 7 ‘

(1) Sl - o i
@) o ——
@) R st
@) FE a5 il

(A) ad (1) 3R (2)
(B) &ad (2) 3R (3)

© 9 @)
(D) s § ¥ ®E T
12. W IIH @ U A RRT W ae ‘wen’ W feeR wfded @ ofear 2
(A) SC (B) NGT
(C) @R HAeHE (D) AfeRT HAE
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13.

14.

15.

16.

IRV2020 is concerned with :
(A) Universal healtheare (B) E-Governance
(C) Rhinoceros (D) Vaccination

Department of Science and Technology (DST), Government of India is

collaborating with whom for Real-Time River Water and Air Quality

Monitoring ?
{A) Microsoft (B) Intel
(C) Google (D) GE

Celebration of ‘International world water day’ was recommended at the :

(A) 1992, United Nations Conference on Environment and Development

(UNCED) in Rio de Janeiro
(B) 2002, Earth Summit

(C) 2012, United Nations Conference on Sustainable Development (UNCSD)

in Rio de Janeiro

(D) 1992, United Nations Conference on Sustainable Development (UNCSD)

in Rio de Janeiro
The idea of Four Pillars of Education was suggested by :
(A) UNICEF (B) UNESCO

(C) NCTE (D) UGC
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13.

14.

15.

16.

IRV2020 &1 Hay frad & ?
(A) FFeda TeThat (B) I-T&°9
(C) =1 (Rhinoceros) (D) TSR

WWWEW(DST),WWMW%WW?&W@R
arg e fTRE & fau weEn W W@ R 2

(A) W | (B) ¥«

(C) T (D) i

I fava wa feaw 7 =t fqwiw fea =t 2

(A) 1992,ﬁasjaﬁﬁmﬁwfamaﬂtﬁmmﬁgaaugw(mcm)
(B) 2002, geat f¥mer weieH |

() 2012, fah & @ # waq foe W 9gw U ¥@ed (UNCSD)

D) 1992, Tl € A & waq fobm W & T g (UNCSD)

foien & 9K W (Four Pillars of Education) 1 fo=uR fews g ggman T

oq ?
(A) IFRw (B) F¥eh!
(C) NCTE (D) UGC

T.B.C. : 77/18/SET—D 11 P.T.Q.



17.  In the following question, a statement of Assertion is given, followed by a
corresponding statement of Reason just below it. Of the statements, mark the

correct answer from the options given below.

Assertion (A) : The birthday of India’s second President is celebrated as
National Education Day.

?

Reason (R) : The National Education Day is celebrated all over India to
enhance the quality of education and to strengthén the Indian educational

institutes.
(A) Both (A) and (R) are true and (R) is the correct explanation of (A)
(B) Both (A) and (R) are true, but (R) is not the correct explanation of (A)
(C) (A) is true, but (R) is false
(D) (A) is false, but (R) is true
18. The National flagship programme of education (SSA) aims at :
(A) Universalization of elementary education
(B) Universalization of secondary education
(C) Special education in primary schools
(D) Special secondary academic programmes

19.  In 2018, which of the following has been ranked the best college in the country
as per the National Institutional Ranking Framework (NIRF) ?

(A) St. Stephen’s College, Delhi (B) Miranda House, Delhi

(C) Fergusson College, Pune (D) Presidency College, Chennai
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17. Tefafes w9 ¥, sfysad &1 o 999 G0 71§, T8 9% 9 A SR H
wF getug e fem e ¥ owsEE A @, 9 G e 4 @ w@ sW
fafeg =1

FRTHIT (A) : YT B TR T & SR F U= e fTmw & w0 d T

G

FHOT (R) : foen &1 e wge 3R ey fam SeE S Aeen e S e
R wrE #§ T e few v s E |

(A) (A) 3R (R) 3 war ¥ 8l (R) (A) 1 W& Weiem &

(B) (A) 3 (R) 2Ff ¥ €, afifd (R) (A) 1 W& S0l Tel @
() (A) ¥= %, dfF (R) Tom ¥

(D) (A) Tew %, afFT (R) 9= %

18, Toenm =1 T W@ FEEA (SSA) F R ¥

(A) wRfyw foen &1 wEHTEE

(B) wreafww foen w1 S

(C) wafns fomed 3 fav foan

(D) fovm wreafos Safoer Hriwd

19. 2018 ¥ T wegrE T BHa® (NIRF) & SER 291 # W43 Hies &1 @
FAE & 2

(A) ©2 EIha wiow, oo (B) et =, feeei
(C) wHEA Ffew, 0 D) Ied wiew, =8
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20. What .is the full form of the SWAYAM ?
(A) School Website of Active Lesson for Youth Aspiring Minds
(B) Study Webs of Active Learning for Young Aspiring Minds
(C) Student Website of Active interaction for Young Aspiring Minds
(D) Student 'Webs of Active Learning for Youth Aspiring Minds

91.  According to Ridley (1999), concordance rates of IQ scores are 86% for identical
twins reared together and 55% for fraternal twins reared together. What does

this tell us about IQ scores ?
(A) IQ scores are entirely determined by genetics
(B) IQ scores are entirely determined by shared environment

(C) 1Q scores are at least partly determined by genetics. Nutrition has an

effect on 1Q scores

(D) The IQ scores of people who look alike are more similar than the 1Q

scores of people who don't look alike

99.  Which of the following is NOT usually associated with the psychometric

testing ?

(A) Factor analysis
tB) Attitudes

(C) Case studies

(D) Concern with precise measurement

T.B.C. : 77/18/SET—D 14



20. SWAYAMEIT’f?KqW%.?
(A) a1 arwigmel & fau w@fFa o6 # wa dEunEe
(B) g1 senieh Tl & forw wfra stemem & steam aa
(C) B HIe & oI ga ansia i Wied dawse
(D) o g THE W % fy whed ded B

21, et (1999) # SN, T W TR M e A= @ o 1Q W 3 Wl
86% & 3R TH WY WA gL A Al & AU 55% ¥ AT T 1Q TR @ AR

F T gaa 2

A) 1Q @R T0 e ¥ orgafmet grr fwifa foran wmr @

(B) IQ @R Y& ®We ¥ W wareww gry freifa foean mn ¥

(C) 1Q ThR ey g W ¥ &9 Nifve w9 ¥ fuifa v smn &1 =R

F1 IQ TR W Y9E TSl §

(D) T S feEd ot dl & 1Q @R 37 arll & [Q @R &I ga ¥ oifes
A E N T W T e €

92. freafefem § ¥ wFE MHAR W AEHMIEH Thew § I T ¢ ?

(D) w&% W9 & Wy f&q
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23.  Which one of the following is NOT an example of learner-centred methods

of teaching ?

(A) Hill's model of learning through discussion (LTD)
(B) Discussion method

(C) Discovery or inquiry-based approach

(D) Programmed learning approach

24. Peter fails in the examination and attributes his failure to the framing of

faulty question paper. Which defense mechanism has he used ?

(A) Projection (B) Compensation

(C) Rationalization (D) Identification
25. A smart classroom is a teaching space which has

(i) Smart portion with a touch panel control system

(ii) PC/Laptop connection and DVD/VCR player

(iz1) Document camera and specialized software

(iv) Projector and screen

Select the correct answer from the codes given below :

(A) (i) and (ii) only

(B) (i) and (iv) only

(C) (), (ii) and (ii) only

(D) @), &), Gid) and (iv)

T.B.C. : 77/18/SET—D 16



93, freffafen § & @ foam & ded-feen & o % = @ g 7
(A) %ﬁmﬁ@ﬁwmﬁa‘:mmﬁcwm
(B) ==i fafy
(C) fematt o ypas-anufm gfizsm
(D) wmmiE @ s

94, et wien § Bl @ W § R s favem w1 4 S ge-T E T w0
29 & S g e 93 =1 swEm fem ¥ 2

(A) wEm (B) HaasT

(C) FfFaerto (D) wE=H
95, UF TR FET UH Wew wER T W T e

() =R o foud =9 T wow fawew @

(¢) AR AR AR ErETSl A ©E

(i5i) Ty SR favm wiwdm

(iv) WL 3 @A

49 fer T e ¥ o8 IW 9T

(A) (i) 3T (i) Faa

(B) (if) R (jv) et

(C) (), (i) ¥ (i) FFa

M) (@), ), i) 3 (iv)
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26.

217.

28.

29.

30.

Which scientific method often focuses on generating new hypotheses and

~ theories ?
(A) Hypothesis method (B) Deductive method
(C) Pattern method (D) Inductive method

Which one of the following principles is NOT applicable to sampling ?
(A) Sample units must be clearly defined

(B) Sample units must be dependent on each other

(C) Same units of samples should be used throughout the study

(D) Sample units must be chosen in a systematic and objective manner.

A system of systematically, interrelated concepts, definitions and preparations

that are advanced to explain and predict phenomena is known as ............ v
(A) Facts , (B) Values
(C) Theory (D) Generalization

In which of the following activities, potential for nurturing creative and critical

thinking is relatively greater ?

(A) Preparing research summary (B) Preparing a seminar paper
(C) Presenting a paper (D) Participation in a workshop
The research stream of immediate application is :

(A) Conceptual research (B) Action research

(C) Fundamental research (D) Empirical research

T.B.C. : 77/18/SET—D 18



26.

21.

28.

29.

30.

FIEl AT UG SRR T IReed ol fagia SO Y W SN wHigd St
g2

(&) e ffy - (B) feefrea faf

(©) T fafy (D) W= fafy

frafafes # & i@ fagid T4 (Sampling) W @1 & &l & 2

(A) m.mﬁﬁmw@wﬁwﬁammaﬁq

(B) A gEAl W Th g W R @A wIfeg

(©) R SoPA § TE WA sEEA B oS fRn A

(D) 9 gHEA F Ay R ST @i ¥ YA S A

Yoaftyd, adsfya sagRonsd, aRymwel ok TafE #1 Th qured S OSE w

g iR wfasemft 3 & fau 3= a6 8, 3= e & ®9 H WA S
??

(A) A (B) #HH

) fagm ; (D) |HRIH

frafafeg & @ frg wfafafy & s iR Aeaqol 9= &1 GO0 37 H GUEAT
e afus ® 2

(A) Y O TR HA (B) TH IR TR TR w0
(C) T& HTS Td & (D) UH FEEA § 9N @
qehlel 3GET 1 STEYH O/ F & ?

(A) SR STIHYH | (B) wwRM fwd

(C) Tifeh TIHHE @) SVES TNy
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Carefully read the paragraph and answer questions from 31-35 :

Skyroot Aerospace, a Hyderabad-based start up, is developing a rocket which
can be assembled and launched in a day that will be used to hurl small satellites
into space, eyeing a slice of the global market for tiny satellite launches that
are expected to grow over the next decade. Skyroot, founded by former Indian
Space Research Organisation (ISRO) scientists, expects to demonstrate its first
rocket by 2021, which it says could potentially reduce launch costs' by a third.
“We are one of the rare companies building expertise in both solid and cryogenic
propulsion,” according to CEO of Skyroot Aerospace. “Solid propulsion is the
cheapest option for small launchers and cryogenic propulsion is complex, but
provides the best efficiency and is highly scalable for larger vehicles.” The
firm is also developing a family of rockets named after Vikram Sarabhai, the
founder of India’s space programme. Skytroot has one of the best space-scientist
teams in the country and the wherewithal to design and build rockets for
low-earth launcbes to begin with, and eventually geostationary satellites also.
India currently.does not allow private firms in the space sector, but is looking
to open up through the Space Activities Bill 2017. The bill recommends private

firms in space programmes, including building rockets, satellites and launches,

T.B.C. : T7/18/SET—D 20



YorE ) FF Q UE 3 31 W 85 T Ul B SW S

mmmm@a,@mmmmam@mﬁw
fea s Goar & 3R @ fwa ST 9war §, fooe 3w B2 SWRI #I JaRE
# qgam & fog fvar smom, St 8R SwR | % fau dftes aeR & 06 WiR
W TR T & S gl @ TG § O v §| YR iRy STEYN e
(ISRO)%géémﬁﬁmwﬁawéﬂz,zomwmmﬁzmwm
ﬁmm%,ﬁm%%%ummﬁ@—m#mmm
31 “gr I o FENRE ke <F § fvee T A gelw SR § R
o 1 e TR @ g @ oER | “aw Wit 91wl @ fae W
e e ¥ o S e S ¥, e R T e T
3R aR Al & fog st whaed §1' BH YRG & SRy wEEH & GETE
oy IR B W W e F TH URER H ot fowfaa w @ T RIS &
o 2w w i sRe-Ai I § Y ¥ ok e % v S fag
Wiz fooe w0 iR o B fog TR TR, o anferaR ufter SwRE @ s
TRA sduE # fafer & 8 ot WAl @t oerqufa 7€ @ 8, Afe sl nidfafuei
fafrE 2017 F WEM ¥ IR T W 9 @ ¥ o sioRe wwa § e

wHf @t Fawie s €, fred the ot suwdl & fmaior wmite ®, < 9Rdig e
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both for Indian and foreign customers. “Looking at the Bill, we have quit
ISRO to start our own venture,” said CEO of Skyroot Aerospace. Skyroot says
it is in talks with the Defence Research and Development Organisation (DRDO)
to use the latter’s test facilities to launch the rocket. By 2027, around 6,500
small satellites are set to launch for various applications such as
communications, remote sensing and navigation, according to a November
2018 study by Northern Sky Research, a US space researcher. Recently,
Amazon founder Jeff Bezos said the e-commerce giant is working on project
‘Kuiper’ to put 3,236 satellites in space. to provide high-speéd broadband in
remote regions of the world. India has emerged as the hub for small-satellite
launches, with the country’s workhorse, the Polar Satellite Launch Vehicle
(PSLV), ferrying small satellites into space. In 2018, around 600 small satellites
were carried to space, with over a quarter piggybacking on the PSLV rocket.
ISRO is also building a small satellite launch vehicle (SSLV), a léuncher to
put small satellites @nto orbit that can be assembled in two days. Agnikul
Cosmos, incubated at IIT-Madras, is working on a semi-cryogenic rocket. There
are capacity constraints for ISRO to meet the global requirements of commercial

satellite launches. That is the reason ISRO is willing to encourage private

T.B.C. : 77/18/SET—D 22



Ryl sl & fou) ‘‘foa &1 @d g, T U R H ITH YE FH F @
T & B four B, wrEie e § UiEsl A #El| e F FE § %
IR Wahe &l dFg & & fag o = wew glawmsd w1 SWm w3 & fag @
FEYA 3R T @et (DRDO) & WY S & @1 & 1 2027 @6, T 6,500
B IR W faf= syl S geR, ol S iR Afeiem & foag @ &
& fou Q2 fFa T ¥, FEeX 2018 B AT B STIER, I RN IFTHUH, TH
SAfRT SRy TNYshdl g o & H, TS & HXAUE W% SeiE 3wl R

-wd o g & TEue & &9 § ve ifa 9wl dfesis WeH i & fag

siafer § 3,236 STWE I @A B foIT ‘HER’ | HH H W@ T 9RG B HIR
T ® g % ©9 § S T, W ® THe™, Ydd U W= aed (PSLV) &
Ty, ARy § S SWE F IR H@ g 2018 F, TN 600 B IWE Al RS
F & s o, fEd PSLV e W TH-dierE frfefsa on 36 o SWE
FaTY A (THUEUEEt) @ o fEin w @ R, S 9 SwEl I wan § v
@ & U @R ¢ R S A A swm R W g §1 STReTES- e |
TR T T SAfiTeRe R T Y- Yehe W M T & | s
mumﬁﬁmmﬁﬁ@mémm%mmﬁm
1 7w ¥ T T 9 fet dm @ foentedl @ Gt w0 B fa
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sector players like Skyroot. Globally, there are at least 75 start ups that are
building launch vehicle technology. Experts, however, say start ups may be
too optimistic on price and opportunity, and will need to demonstrate the
required capability before market entry. From an Indian perspective, they
may think they can beat everyone on price, which is a fair argument. But,
for them to prove their pricing, they will first have to be allowed to get to
orbit, said co-founder of Sat Search, a company that harnesses space assets
to deliver intelligence to organisations. We need to see how ISRO and the

Department of Space are receptive to such ideas.

31.  Which of the following is a Government of India organization ?
(A) ISRO (B) Skyroot Aerospace
(C) Northern Sky Research (D) Sat Search

32.  Utilizing launching of small satellites in space to provide higher speed

broadbrand in remote regions of the world, is a project of ................. ‘
(A) Agrikul Cosmos

(B) DRDO

(C) Department of Space, Government of India

(D) Amazon
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YR ¥ AfveF T W, F9 A B 75 VE 0 € S A= A i
R B F witE, O w1 FeN € fE g o W W WE Y 95 6w
ST B W &, O AR # gaN § Ug0) SORAE &l i YG¥H I B
il gfew @, 3 @ TR ¥ R A Rl B E WoR w1 T
@mw%lm,mmmqmﬁqhm@wmams%m
sz % Y ) e 3 A, Sat Search % TE-FeTH, T FEA A W
) e T 33 3 forg siafie SO @ e w ¥ W 9w dE e
& f5 0 ok iRy faum W@ el & fom #9 wewnie @

31, frefefod § ¥ #M 94 TWHR H T © 2
A) T
(B) WHEIC THIEH
(C) T8 o STHYNE (Northern Sky Research)
(D) Sat Search

32. gﬁm%m%%ﬁﬁmwﬁrmwmﬁmmﬁaﬁ@%m
1 YA, TH IRERA €

(A) TrEd HEH™ (B) DRDO
(C) iaftey faum, IR THR (D) 3THSH
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33.

34.

35.

36.

37.

Which of the following statements is NOT correct ?
(A) Cryogenic propulsion is more efficient than solid propulsion for rockets

(B) Space Activities Bill 2017 recommends space programme for Indian

customers only

~ (C) Start ups can participate in Indian space programme only after permission

from Indjan Government
(D) SSLV is being built by ISRO
World over, satellite launch vehicle technology is being built by .....................

start ups.

(A) 600 (B) 3236

(C) 6500 D) 75

First launch of a rocket by a private company in India has been/is expected
0.0 3 ossnissicmsinssnse :

(A) 2027 (B) 2017

(C) 2018 (D) 2021

What are the barriers to effective communication ?

(A) Dialogue, summary and self-review

(B) Moralising, being judgemental and comments of consolation
(C) Use of simple words, cool reaction and defensive attitude
(D) Personal statements, eye contact and simple narration.

The term Yellow Journalism’ refers to :

(A) Sensational news about terrorism and violence

(B) Sensationalism and exaggeratic;n to attract readers/viewers
(C) Sensational news about arts and culture

(D) Sensational news prints in yellow paper
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33.

34.

35.

36.

37.

frefafas § @ SFE o T @ R ?
(A) HENTE iR The & fau 39 yuied &t go | oifus F9a ®

(B) sfafty wfafafyal fadas 2017 Haa MRAE Tehi & fau fafy FEzs =
fowf = §

(C) ®E U 9 TR ¥ oEfd & 9% @ 9RdGE SaRy wEEs § 9m &
RET

(D) SSLV ISRO R /™l <1 Wl ©

L g A G— g 8
(A) 600 (B) 3236

(C) 6500 D) 75

aqRa § fedt felt St g0 Yehe 1 Teem gEWW we R M ¥ 2

(A) 2027 . (B) 2017

(C) 2018 D) 2021

Tt §9R & fau @ e € 2

(A) FOR, T R STH-THET

(B) Afceer, TivRTa® B 3R Wi w fewfvrt

(C) W@ V=l % yEW, id gfafmar ok s WA

(D) IfFTa ®oF, 99 IR IR WA HIA

“diq T’ (Yellow Journalism) = &1 19 ¥ :

(A) IR R i @ o § wEes T

(B) USHi/cdHl # it w0 & fAu wees i sifavrifw
(C) el R Wpfa & R § GIAAeN TR

(D) TGS THER W wS H B9 §
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38.

39.

40.

41.

42.

43.

44,

Breakdown in verbal communication is described as :

(A) Short circuit (B) Contradiction

(C) Unevenness (D) Entropy

Public communication tends to occur within a more :

(A) Complex structure (B) Political structure

(C) Convenient structure (D) Formal structure

Effective communication needs a supportive :

(A) Economic environment (B) Political environment

(C) Social environment (D) Multi-cultural environment

A waiter’s salary consists of his salary and tips. During one week, his tips
were 5/4 of his salary. What fraction of his income came from tips ?

(A) 509 | (B) 5/4
(C) 4/9 (D) 5/8
Find the missing number in the series 1, 4, 27, 16, ?, 36, 343.
(A) 50 (B) 78
() 125 | D) 132

A bullock cart has to cover a distance of 80 km in 10 hrs. If it covers half
of the journey in 3/5th time, what should be its speed to cover the remaining

distance in the time left ?
(A) 8 km/h (B) 14 km/h
(C) 12 km/h (D) 10 km/h

A is the brother of B. B is the brother of C. C is the husband of D. E is
the father of A. D is related to E as :

(A) Daughter-in-law (B) Sister-in-law
(C) Sister (D) Daughter
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39.

40.

41.

42.

43.

Hifes 9K § d%esT & &9 4 aftfd ® ¢

(A) W Ffme (B) fadienvm

(C) 39| | (D) Entropy

e FER AR BN O ® e

(A): et §Ta (B) VI ST

(©) e O D) s W
gyl §ER % AU fF9 WeEe @ STavaskd ol © 2

(A) anfds R (B) T e
(C) WIS &y (D) wg-Tipiash SRl

TF 3R & 907 § 39S 9ad iR few wifiet 21 B 1 Tk Wwig & QRH, Suh o
3T A0 & 5/4 of | gt g 1 feam fewmw feww @ smm ?

(A) 5/9 (B) 5/4
©) 49 D) 5/8
G 1, 4, 27, 16, ?, 36, 343 # @ W& I@ S|
(A) 50 (B) 78
©) 125 (D) 132

& JermEl F 10 =52 # 80 fFd Y g 7@ A Bt 71 A I7 8/5 wHg H A
F o ol & S F &, W T T F 99 g H FR FE & AU g7l
w0 g e 2

(A) 8 fEHi/e= (B) 14 fwei/se

(C) 12 fewsit/se (D) 10 fewd/e=

ABHF YE I B, CH 9E 81 C,DH ufd §1 E, A= f €1 D, E ¥ fow
TE q gafea § ?

@A) = | ®) sh
©) faex D) ¥
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- 45.

46.

47.

48.

49.

50.

In certain code, SELECTION is coded as QCJCARGML. The code of
AJVIERICANS will be : |

(A) YHTGCPGAYLQ | (B) BNFSJDBMRLQ
(C) QLYAGPCKYLQ (D) YQKLCYPAGTYL
True knowledge, is :

(A) Prama (B) Aprama |

(C) Prameya (D) Pramana

“A man ought no more to value himself for being wiser than a woman. If
he owes his advantage to a better education, then he ought to boast of his
courage for beating a man when his hands were tied.” The above passage

is an example of :
(A) Deductive argument (B) Hypothetical argument

(C). Analogical argument (D) Factual argument

~ If the proposition “No men are honest” is taken to be false, then which of .

the following propositions can be claimed certainly to be true ?

(A) All men are honest (B) Some men are honest

(C) Some men are not honest (D) No honest person is a man
144 : 23 :: 169 :

(A) 32 B) 24

(C) 25 D) 26

Find the letter in the 8th position when the alphabets are written in alphabetical
order from the right :

(A) P B) Q
€ O M S
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45. fafvam #e #, SELECTION ® QCJCARGML % &9 # wifed fhar ma 2|
AJVIERICANS &1 %S BN :

(A) YHTGCPGAYLQ (B) BNFSJDBMRLQ

(C) QLYAGPCKYLQ (D) YQKLCYPAGTYL
6. Jemam ¥ |

.{:&) EL) (B) a1y

(C) wH= (D) WA

47. “'UF AEH ® T ufeen & goT § GHERR B9 % fAU gR @ Wew Tl ol
T | 3R 98 T o5k 918 &1 o1y 33§, o U 39H oY 99 B W TH
e # e w0 & femg wfewl’”’ 98 TF TET © :

(A) Tesfwra sgq =1 (B) ST d&
(C) 3FET T HI (D) deAHF qh

48. A v 'HE qEY IHFER TE € R e 7 S ¢, @ Frefafed § | S
weE fafved €9 ¥ 99 89 & <@ R S wear § 2

A) i dm R (B) %5 TV AFER & ¥
(C) %9 W SRR T ¥ (D) #E ot AR AR W T @
49. 144 : 23 :: 169 :
(A) 32 B) 24
(C) 25 . @ 2
50. 83w B R B @ v e AR A avie w A fre T
@A) P B Q

© O D) S
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